ﬂéﬂﬁ&ﬁjm“'lmﬁﬁ

e/ BEEF [fm]: FER E%KE [S0102]
-8 /% Epe (1) #%55@%&£

FE AR EUR AL

*)‘g‘ii‘i_f%.ﬁu%u:
AL COFEDARAL AL RBR O FE TR B RR  RREAD EETHE e AR R T
FEFRAA AL ¥R FERIFOEH - ZHFT AL -
QA% L -EH5 > 2 FHIEL 443> 55254 > £ 100 A -
OAFHILINE -2 I HLARF LN EERE VHRBENTE > R84 7 2 B £ 3 €
TERP TS
OFFWERLIFRLEL > HUTTHULAAEFREMLEP2 T PR
OAFBPIHREER F2 AT I FETE(F L ETPMirddk 1A% IFEI FAR S 2 B F iR
AL R R TR R GRS ) 2T W o R e T
ﬂ%i#;%$ﬁloﬁ’%ﬁrﬁ &2 A A LT FFEBFOEE S PRI
Fo2MF PRELTIFEBENLG AR > G4 ORLEF A
OF R E¥BLMY > ARMFHEENFLFE o

¥ - 45
1M EETIERR > G BT ARAL
(=) Befli22aim? [BA)fHEL BefIZE B BaflZ X&Lim?
(4 ~]
=) weflFL S8 Eie? [34]
(z) EeflEdmhzpaiwm? [34]

iR T R M ARG A DR G IE LS
AR R el E s b pFEEE R ? [2 4]

?? [8 4]

R AR A SRR A s Rk B RS JIE F 0 e E
4 s ? [24]

- &

FHEGE IR RN G T AIRAL

(m ) wPAARR (AW EGER=H) #51¢ RR] (AN RGEY28) 5@ 7
[18 » ]

(Z) —#m3 o G P FRTELEGSE? A Bmp - [7 4]

= 5500~ &' £ 10 5

wHERAZEYR &

¥ iEc

T E T IR AL

(=)
G - B RS 2
[15 4 ]

(=) #9%F x ez A3 i%-

Py =075~p,,1 =0.8~v=095"

[10 4]

7 (M)fi’ “]”UL ()R T o

AEE 4 (W=0.01)2 AT L4 (5=004)HERT 53

2421 F

FfE T X}%“’i
I pE ) w”’l:\utﬁ}i%"ig‘%ﬂ 'tV°{15A’\]

=S L ELEREH ) FEHIZ M
F 8% it 2 A phAeT ogj‘;-‘:“*%!?

2P ? UDQ}

£ #(X) | 7~ 5 (q)
30 0.05
31 0.07
32 0.10

24 ol F
FFE P

HiiRigz - 2P hde (- paneidid) &

AR iy 2

7
~

al

X fRzo A k- H
Zrg (= 2 TIEEE) BEANFEBELFL(L)ER

=3

T

PR R B EEL LA Z R



